HAGS

ARENA 2007

© PLAYPOWER INC.

E-post: hags@hags.com
www.hags.com



ARENA 2007

Page 2 ISSUE Z 13-08-2015



ARENA 2007

CONTENTS
Section 1: GOALS / BUTS / TORE / PORTE DA CALCETTO/MAL ........ Page 7
1 SAG2B, SAGSM, SAG2R, SAGMR, SAG2BB, SAG2RB, SAGMRB & SAGSMB . . . .. .. .. Page 7
2 SAMGOO ... Page 17
3 SAMBB & SAMBR . . . . ... Page 18
4 SAG 2 . . Page 23
5 SAGF3 & SAGF3B . ... ... Page 28
Section 2: EXCAVATION / AUSHUB / SCAVO /
NEDGRAVNINGSALTERNATIV........... ... Page 37
1 SAP* SAC*™ & SAOT0 ... ... Page 37
2 SACLB & SACUM . ... Page 37
3 S AEPS Page 38
4 SAEPD ... Page 38
Section 3: POSTS / POTEAUX /PFOSTEN / PALI/STOLPAR............. Page 39
1 S APT0 .. Page 39
2 S A CTD . Page 39
3 S AT ... Page 39
4 S AP 20 ... Page 39
5 S A C 20 ... Page 39
6 S AP B0 ... Page 40
7 SAC30 ... Page 40
8 S AP .. Page 40
9 SACAD ... Page 40
0 S AP Page 41
11 S AP . Page 42
Section 4: PANELS / PANNEAUX / WANDELEMENTE / PANNELLI/ SKARMAR
.................................................................................... Page 45
1 S A G AM . Page 48
2 S A G AP . . Page 48
3 S AL AN . . Page 49
4 S AL B . . . Page 50
5 S A UM . .. Page 50

ISSUE Z 13-08-2015 Contents Page 3



ARENA 2007

6 S AL R . . Page 51
7 S AT . . Page 52
8 SATUM . Page 52
9 SATLR Page 53
10 SASBM ... Page 54
11 S ASBR .. Page 54
12  SACLB ... Page 55
18 SACUM . . Page 56
14 S AEPS .. Page 56
15 S AEPD ... Page 57

Section 5: MINI GOAL & SEATS / MINI-BUTS & PLACES ASSISES / MINI TORE
& SITZGELEGENHEITEN / MINI PORTE DA CALCETTO & SEDUTE/

MINIMAL & BANKAR ... Page 59
1 S A MG . ... Page 59
2 S A 2SS Page 61
3 S AL S . Page 62
4 SAH22, SAH23, SAHA42 & SAHA3 . . . ... ... . Page 63

Section 6: POLY PANELS / ECRANS EN POLYETHYLENE / POLY-WAN-
DELMENENTE / PANNELLI IN POLIETILENE / PP SKARMAR. Page 75

1 SAZRB ... Page 75
2 SATRB . Page 76
3 S AY LS . Page 76
4 SAYRS Page 77
5 SAY GK . Page 77
6 S AY DS . Page 78
7 SAY CR . Page 78
8 S AY ST . Page 79
9 SAYKT . Page 79
Section 7: GATES / PORTILLONS / EINGANGE / CANCELLI/ GRINDAR Page 81
1 SAZA0 Page 82
2 SAZ20 ... Page 83
3 ADJUSTMENT OF GATE CLOSING SPEED

AJUSTEMENT DE LA VITESSE DE FERMETURE DU PORTILLON

EINSTELLEN DER SCHLIESSGESCHWINDIGKEIT DES EINGANGSTORES

REGOLAZIONE DELLA VELOCITA DI CHIUSURA DEL CANCELLO

JUSTERING HASTIGHET AV GRINDENS STANGNING ............................. Page 84
4 S A Z 2 Page 85

Contents Page 4 ISSUE Z 13-08-2015



ARENA 2007

5
6
7
8
9

10
11

S AZAd L Page 85
S A Z 2 Page 86
S AZ23 Page 87
S AZ 2 Page 88
S AZ33 Page 89
S AZA 2 Page 90
S AZAd . Page 91

Section 8: NET EXTENSIONS / RALLONGES PARE-BALLONS / NETZ-VER-

LANGERUNGEN / ESTENSIONI RETI / FORLANGNINGSSTOLPE . ..

................................................................................. Page 93
............................................................................... Page 93
1.1 S ABSLI0 . . .. Page 93
1.2 SABSRI0 . ... e Page 93
1.3 S ABSL20 . . ... e Page 93
1.4 SABSR20 . ... ... e Page 93
15 S ABSL30 . . ..o Page 93
1.6 SABSR30 . ... Page 94
............................................................................... Page 95
2.1 SABSLI0S .. ... Page 95
2.2  SABSRI0S .. ... Page 96
2.3  SABSL20S ... ... Page 97
2.4  SABSR20S . ... ... Page 98
2.5 SABSL30S . ... .. Page 99
2.6 SABSR30S . ... .. Page 100
.............................................................................. Page 102
31 SABT AT ... Page 102
3.2 SABTATS Page 102
3.3 SABTA20 .. ... Page 102
34 SABT AT .. e Page 102
3.5 SABT A .. Page 103
3.6 SABTST0 . .. ..o Page 103
3.7 SABTS20 . .. ... Page 103
3.8 SABTS30 . .. ... Page 103
.............................................................................. Page 103
41 SABSFI0 . ... Page 103
4.2  SABSFIS . .. .. Page 104
4.3  SABSF 2D . .. .. Page 104

ISSUE Z 13-08-2015 Contents Page 5



ARENA 2007

Section 9: TENNIS NET / FILET DE TENNIS / TENNIS-NETZ / RETE DA TENNIS
T TENNISNAT . Page 105

1 SANET .. Page 105

Appendix A: GOALS DECK MOUNTED / BUTS SUR PLATINES / TORE
OBERERDIG MONTIERT / PORTE DA CALCETTO FILO SUOLO/

MAL OVAN MARK MONTERING ................................. Page 109

1 SAG2BD, SAGSMD, SAG2RD, SAGMRD, SAG2BBD, SAG2RBD, SAGMRBD & SAGSMBD . ..
.............................................................................. Page 109

2 SAGR 2D .. ... Page 112
3 SAGF3D & SAGF3BD .. ... ... . Page 114

Appendix B: POSTS DECK MOUNTED /POTEAUX SUR PLATINES / PFOSTEN
OBERERDIG MONTIERT / PALI FILO SUOLO / STOLPAR OVAN

MARK MONTERING .......... ... .. ... ... ... ... Page 117
1 SAPTIOD ... Page 117
2 SACTI0D ... Page 117
3 SAOTOD ... Page 117
4 S AP 20D ... . Page 117
5 SAC 20D .. ... Page 118
6 SAPBOD ... Page 118
7 SACB0D .. ... Page 118
8 SAPAOD ... Page 118
9 SACAOD .. ... Page 119
10 S APAID ... Page 120
11 S APA2D ... Page 121

Appendix C: SEAT DECK MOUNTED & ACCESS/PLACES ASSISES & ACCES
SUR PLATINES / SITZGELEGENHEITEN & ZUGANGE OBERERDIG
MONTIERT / ESDUTA FILO SUOLO & ACCESSO / BANKER FOR

OVAN MARK FORANKING & INGANG .......................... Page 123
1 SAH22D, SAH23D, SAH42D & SAHA43D ....... ... ... Page 123
2 SAEPSD ... Page 126
3 SAEPDD .. . Page 128

Contents Page 6 ISSUE Z 13-08-2015



ARENA 2007

Section 1: GOALS / BUTS / TORE / PORTE DA CALCETTO / MAL

1 SAG2B, SAGSM, SAG2R, SAGMR, SAG2BB, SAG2RB, SAGMRB & SAGSMB
QTyY
ITEM | REF. o | = | | 2| 8|8 | |2 |«
N N = 0
» | o | & | S| 2| 2| x| <
[72] () (/2] ) n n & »
I
SET SET SET | SET
24000101 J | oF2 OF 2 oF2 | OF2 63.00
1.1
!
‘ SET SET SET | SET
24000102 ) OF 2 OF 2 oF2 | OF 2 | 75:00
- 2910 _
| —
1.2 | 25000205 | f— —] 27.00
=
1.3 | 25000201 14.00
24000301 4 4 4 4 | 50.00
1.4
24000305 4 4 4 4 68.00
24000111 1 50.00
15
24000115 63.00

ISSUE Z 13-08-2015

Section 1 Page 7



ARENA 2007

QTy
us]
ITEM | REF. @ | 2| % | & g E c % kg
S| g2 |8/8|¢|¢8|¢
[72] (7)) (/2] ) n n & »
1.6 | 25000405 i T 2 26.00
1.7 | 24000905 1 7.500
1.8 | 25000907 1 8.000
1.9 | 19025501 24 0.015
110 | 10121040 4 0.037
111 | 10121035 6 0.032
1.12 10121030 30 0.028
1.13 | 10301000 30 50 0.002
M10 12X18X1

Section 1 Page 8 ISSUE Z 13-08-2015



ARENA 2007

1745 MIO

QTY
us]

ITEM | REF. @ | 2| % | £ g E c % kg

S| s 38|98 8|98 |¢

I N N N O I I IR
1.14 | 10271000 10 0.020
1.15 | 10411000 10 0.020
1.16 | 10121000 @

ISSUE Z 13-08-2015

Section 1 Page 9



ARENA 2007

O/
©JoJolo I
(@]
S N
/ — | ;\ |
] o
o
43° — \\ 0
[}
Lo
/ <
; . 11
1000 \$&>
B 1500 B
g e S LT
I
(@) (@
3 <
LT 11 [ Y

Section 1 Page 10 ISSUE Z 13-08-2015



STEP 1




AAAAAAAAA

20-25Nm

X8




ARENA 2007

STEP 3

JUUEE==A | = =Y 20-25Nm

X8

ISSUE Z 13-08-2015 Section 1 Page 13



ARENA 2007

STEP 4

1.3

20-25Nm

AL LTI IT Ty LY 1Tl
AL IR R T T T T
AT IR T Ty 1111111
T L1111
AL LR T Ty [ T
ATITIAITT iy 11111111
AT T Ty | T T
(AN R LN NN 1111111
AL LI AT T T I Ty
AN AN A AN |
I AN LIty
11l iiT T Ty L1111
L1 LR YTy
LA L 1R iTy
L L L AV L L
L W L L L o o o i
LA L T T T T T T vt rtrtrrrte
(RN i
__’
WA T T i Ty
MAtI iRy IH AN
I AN AN NN I A EEEEEE
LLI T TRl YTy EEEEEEmm!
LIl Li A T T i rrrrrrrrte
LI I IR T TITy L T
L LT Ty 1111ttty
AL T T T | I 1 W W
MAALLITT Ty EEEEEEEEm]
ML IITTTTTY I HEEE RN EN!
|\ W I L T T T A T W
BN S AR RS Al AR
ML TTTTTT T L W
AN W T L L
ML LT T T Y T rr Tty
| HA N AN A EN! L T W
/.__________ | AEE RN

ISSUE Z 13-08-2015

Section 1 Page 14



ARENA 2007

STEP 5 800 500
D R
8 -
S2 (50mm) /—//’1 = “
2020—-25 V \
<@ 101 ] )
(@)
43° | 3
ok
©
c ! 1
1000 @
1500
- — SUUULUULE HHEUE 0.0
o |, aa . ] TN —“—
o Ll o
SR 3| 1) S
Al Lsf I

ISSUE Z 13-08-2015

Section 1 Page 15



ARENA 2007

STEP 6

20-25Nm

S

—
—_—

Section 1 Page 16

ISSUE Z 13-08-2015



ARENA 2007

2 SAMGO
ITEM CODE SAMGO kg
2.1 25000115 C\. 1 29.000
22 10121020 m 6 0.020
2.3 10301000 8 0.002
M10 12X18X1
2.4 10121030 @m 2 0.028
I LIL ]|
g 4 BN = =
|| -
//}L///
~ ] E g

20-235Nm

ISSUE Z 13-08-2015

Section 1 Page 17



ARENA 2007

3 SAMBB & SAMBR

ITEM REF SAMBB |SAMBR| kg
’A
31 | 25000113 1 44.000
32 | 25000114 / SET OF 2 13.000
33 | 25000903 M 1 18.000
/
34 | 25000005 1 24.000
o
o e
L— r’Jj
25000907 \' 1 8.000
35
25000901 1 11.000

Section 1 Page 18 ISSUE Z 13-08-2015




ARENA 2007

ITEM REF SAMBB [SAMBR kg
3.6 10121020 6 0.020
M10

3.7 10121030 10 0.028
3.8 10121040 12 0.037
3.9 10121065 4 0.050
3.10 10301000 36 0.002
3.11 10309999 4 0.003
3.12 10281000 4 0.013
3.13 10411000 4 0.020

ISSUE Z 13-08-2015

Section 1 Page 19



ARENA 2007

= FHHH A
FFHE T
HHHH siz — Bc
l HH i
':::: arz -j
5 i 2is ]
: 1|

E
ﬁ%
= —
=
[—
=

1 H
|
|
_

=
—]
- 1} i . X
O FE
m|sessiiac
[
[
L
L
[

a
m
|
]
n
-
]
]
1
1l

e[

'
@/!’

Section 1 Page 20

ISSUE Z 13-08-2015



ARENA 2007

ISSUE Z 13-08-2015 Section 1 Page 21



ARENA 2007

Section 1 Page 22 ISSUE Z 13-08-2015



ARENA 2007

4 SAGF2
ITEM CODE SAGF2 kg
(K ]
4.1 24000132 2 24.00
B 2850 -
(I o
l 2685 _
4.2 24000105 | ! 1 21.00
(P !
- 2910 _
4.3 25000205 o — 1 27.00
| d
4.4 24000615 4 35.50
4.5 19022401 16 0.010
4.6 10121030 20 0.028
4.7 10301000 20 0.002
M10 12X18X1
4.8 10309999 16 0.011
M10 11X30X2.5
AN
4.9 19024501 24 0.001
W
5.0 10121000 @ 1

ISSUE Z 13-08-2015

Section 1 Page 23




ARENA 2007

/)

OOOE

5D
SZ2 (50mm)
>C20—25 !

<101

1000 CRS

1500CRS | 1500 CRS

I
A,
-
3
i

600 TYP

700 TYP

—
]

SOb X 300 300 X 3})0 30% X 300

Section 1 Page 24 ISSUE Z 13-08-2015



ARENA 2007

STEP 1

STEP 2

ISSUE Z 13-08-2015 Section 1 Page 25



ARENA 2007

N

30

| “ ﬁg
S

Section 1 Page 26 ISSUE Z 13-08-2015




ARENA 2007

STEP 3 , 4.3

=

wﬁ% il
N==smiil BRI -W LLLLL
‘K
LLLLL

) @
i o=t
H:H\W\j&\@@’

@ 20—-235Nm

ISSUE Z 13-08-2015 Section 1 Page 27



ARENA 2007

5 SAGF3 & SAGF3B
ITEM CODE SAGF3 SAGF3B kg
[ |
5.1 24000134 34.00
4085
- =
L 2685 o
24000105 | ! 1 21.00
(_l 3 3 3 I
1
5.2
24000112 1 52.00
5.3 24000615 35.50
5.4 24000610 68.00
cLIMB ON
5.5 24000905 THE RINE 1 7.50
oR FIRAMEW@IRK
5.6 25000907 1 8.00
Section 1 Page 28 ISSUE Z 13-08-2015




ARENA 2007

ITEM CODE SAGF3 SAGF3B kg
5.7 19022401 18 0.010
5.8 19023803 1 0.050
5.9 19024503 2 0.020
5.10 10121040 6 0.037
5.11 10121035 6 0.032
5.12 10121030 20 26 0.028
5.13 10301000 20 40 0.002
5.14 10309999 18 0.011
5.15 10291000 2 4 0.002
5.16 38001019 2 0.002

M10 12X32X6.5

ISSUE Z 13-08-2015 Section 1 Page 29




ARENA 2007

ITEM | CODE SAGF3 | SAGF3B kg

517 | 10271000 20 0.020

518 | 10411000 20 0.020
NN

519 | 19024501 26 24 0.001
U

520 | 10121000 @

Section 1 Page 30

ISSUE Z 13-08-2015



ARENA 2007

1000 CRS

1500 CRS 1500 CRS

N,
F
D7
Y
I
.

S2 (50mm)
>C20—-25
<@®»101 L LU

I
[
[
[
[
[
[
[
[
|
|
|
|
|
[
|
|
|
|
|
[
[
[
[
[
[
[
L
o
<)

700
1000 TYP
1100 TYP

SAGF3 | || ”" b
e 300 X 300 Sant! Y
30D X 3})0 30D X 3}30

ISSUE Z 13-08-2015 Section 1 Page 31




ARENA 2007

/\ \
" :
o o
©cJoJolo O
=D :
i
S2 (50mm) [t alls B -
> —
2C20—25 1500 CRS 1500 CRS
@101 | = -
AN
fa N <7 I )
“Luu ______:;__ — -  — - mabll 0-0 -
= I s I T = |
] S ] 9| & 1] o
o A RIE O F
A ! HE S AR S
SAGF3B | A 1 8 1] 8
:4_ T " :4_ A
- 300 X g‘oo - !
300 X300 | 300 X 300

Section 1 Page 32

ISSUE Z 13-08-2015



ARENA 2007

STEP 1

ISSUE Z 13-08-2015 Section 1 Page 33



ARENA 2007

@m
<

X 16

Section 1 Page 34

ISSUE Z 13-08-2015



ARENA 2007

L

STEP 3 L

XK ¢

ISSUE Z 13-08-2015 Section 1 Page 35



AAAAAAAAA

STEP 4
@ @




ARENA 2007

Section 2: EXCAVATION / AUSHUB / SCAVO /
NEDGRAVNINGSALTERNATIV

1 SAP**, SAC** & SAO10

SAP10 SAP30, SAP40,
5 SAC10 SAC30. SAC40.
ﬁ / \ SAO10 SAP41, SAP42
Eo00
CR
S2 (50mm) — “°-° “ T
>C20-25 117 . 10
>101 g [1]] 8 o L
Ty) - b= bt ' N
N - " E © o2 . o
. S ' | 8
| - T
300300 o T
N5 Y
3 Y i
300x300
2  SACLB & SACUM
: S
ﬁ/\‘ SZ (50mm)
©JoJolo >C20—25
500 2000 1000 @; 101
adl 8“
A |}..Q’ ™y
2 }
3 Shoee shie | 300

ISSUE Z 13-08-2015

Section 2 Page 37



ARENA 2007

3 SAEPS

ol

ﬂ/& SZ2 (50mm)
clololo % >C20-25
<101
00|
2000

1200
N
o
S
S

8* ‘ 675
R |<Blo
SAP10
4 SAEPD
/o\ SAP20 % S ;g
ﬁ P o S2 (50mm)
8l >C20—-25
<107

SA2LB & SA2UM 0

Section 2 Page 38 ISSUE Z 13-08-2015



ARENA 2007

Section 3: POSTS / POTEAUX / PFOSTEN / PALI/ STOLPAR

1 SAP10
ITEM REF. QTY kg
1540
1 24000103 1 1 15.000
! . . D
2 SAC10
ITEM REF. QTY kg
1540
1 24000104 1 15.000
. . D
3 SAO10
ITEM REF. QTY kg
1540
1 24000130 | ) 1 3 o 1 15.000
4 SAP20
ITEM REF. QTY kg
I 2685 .
1 24000105 X 1 21.000
(R |
5 SAC20
ITEM REF. QTY kg
I 2685 .
1 24000106 1 21.000
I |

ISSUE Z 13-08-2015

Section 3 Page 39



ARENA 2007

6 SAP30
ITEM REF. QTyY kg
- 4085 _
1 | 24000107 | 1 34.000
i : P - D
7 SAC30
ITEM REF. QTyY kg
- 4085 _
1 | 24000108 1 34.000
i T P P D
8 SAP40
ITEM | REF. QTyY kg
L 5090 |
1 | 24000109 || Tl 43.000
— — ~— — - |
9 SAC40
ITEM | REF. QTyY kg
B 5090 -
1 | 24000110 = = 43.000

Section 3 Page 40 ISSUE Z 13-08-2015




ARENA 2007

10 SAP41
ITEM REF. QTY kg
poO NOT
2 24000905 él:"Alo% 8§ 1 7.500
o ThE Fionx |
3 25000907 \'@ 1 8.000
o | 10121000 )))))))))))))))))))))))) N
M10 X 40
oo ))))))))))))))))))))) e
M10 X 35
M1 OX1 8X1
7 10271000 10 0.020
< M10
V10
AN
9 19024501 }“} 24 0.001

ISSUE Z 13-08-2015

Section 3 Page 41



ARENA 2007

D

11 SAP42
ITEM REF. QTY kg
1 24000129 (= 1 59.000
90 NOT
HANE OR
CLIMB 0N
2 24000905 JHE RING® 2 7.500
oR FRAMEYORK
3 25000907 2 8.000
4 10121040 8 0.037
5 10121035 12 0.032
6 10301000 40 0.002
7 10271000 20 0.020
8 10411000 20 0.020
AN
9 19024501 24 0.001
)

Section 3 Page 42

ISSUE Z 13-08-2015



ARENA 2007

ISSUE Z 13-08-2015 Section 3 Page 43



ARENA 2007

Section 3 Page 44 ISSUE Z 13-08-2015



ARENA 2007

Section 4: PANELS / PANNEAUX / WANDELEMENTE / PANNELLI/ SKARMAR

Iy O

GRTTD

0.0 0.0 0.0 0.0
c cC c
C2+ +Cl+ +C:
0:0
i
w ||| |
¢ W v
0.0 0.0 —12.5 —12.5 —25
C DC D
c:+ +c:+ i:
1:10

B C B

ISSUE Z 13-08-2015 Section 4 Page 45



ARENA 2007

T~ ( »®

A A
= B
= C
= D
p={ E
\Z
0.0 —12.5 —25 —_375

DB

|
] D U ()—I
1V O

< @
||\l
| —

-—

1:20

D BD B

20 20 —50 ~75 ~100

-« >
| D m
I IJI >
g— [TI

1:40

% fte -

E AE A

Section 4 Page 46 ISSUE Z 13-08-2015



ARENA 2007

STEP 2

‘

@ 20-25Nm

ISSUE Z 13-08-2015 Section 4 Page 47




ARENA 2007

1 SAGAM
ITEM REF QTY kg
1 24000407 1 47.000
2 19022401 5 0.010
3 10301000 5 0.002
4 10309999 5 0.011
5 10121030 5 0.028
2 SAGAP
ITEM REF QTY kg
1 24000409 1 47.000
2 19022401 5 0.010
3 10301000 5 0.002

M10 1!18)(1

Section 4 Page 48

ISSUE Z 13-08-2015



ARENA 2007

ITEM REF QTY kg
4 | 10309999 @ 5 0.011
M10 11X30X2.5
5 | 10121030 @m 5 0.028
M10 X 30
3 SA4AAM
ITEM REF QTY kg
1 | 24000411 1 54.000
2 | 19022401 5 0.010
3 | 10301000 5 0.002
M10 12X18X1
4 | 10309999 5 0.011
M10 11X30X2.5
5 | 10121030 5 0.028

M10 X 30

ISSUE Z 13-08-2015

Section 4 Page 49



ARENA 2007

4 SA2LB
ITEM REF QTY kg
1 24000602 XX 1 39.000
2 19022401 4 0.010
3 10301000 4 0.002
M10 12X18X1
4 10309999 4 0.011
M10 11X30X2.5
| e 30 |
MT1O X 30
5 SA2UM
ITEM REF QTy kg
1 24000503 1 31.000
2 19022401 4 0.010
3 10301000 4 0.002

M10 12X18X1

Section 4 Page 50

ISSUE Z 13-08-2015



ARENA 2007

ITEM REF QTy kg
4 10309999 4 0.011
M10 11X30X2.5
5 10121030 @m 4 0.028
M10 X A0
6 SA2LR
ITEM REF QTY kg
1 24000603 1 28.000
2 19022401 - 4 0.010
3 10301000 4 0.002
M10 12X18X1
4 10309999 4 0.011
M10 11X30X2.5
5 10121030 4 0.028

MT10 X 30

ISSUE Z 13-08-2015

Section 4 Page 51



ARENA 2007

7 SA1ILB
ITEM REF QTy kg
FTFFFFFW
1 24000601 1 23.000
uJJJJJJJ
2 19022401 4 0.010
3 10301000 4 0.002
M10 12X18X1
4 10309999 4 0.011
M10 11X30X2.5
+ | ¢ I | e

M10 X 30
8 SA1UM
ITEM REF QTy kg
g i
1 24000501 1 15.000
L HL
2 19022401 4 0.010
3 10301000 4 0.002
M10 12X18X1

Section 4 Page 52

ISSUE Z 13-08-2015



ARENA 2007

ITEM REF QTY kg
4 | 10309999 @ 4 0.011
M10 11X30X2.5
5 | 10121030 4 0.028
M10 X 30
9 SA1LR
ITEM REF QTY kg
1 | 24000605 | | 1 21.000
2 | 19022401 4 0.010
3 | 10301000 4 0.002
4 | 1030999 4 0.011
M10 11X30X2.5
5 | 10121030 4 0.028
M10 X 30

ISSUE Z 13-08-2015

Section 4 Page 53



ARENA 2007

10 SASBM
ITEM REF QTy kg
1 24000701 =i 1 59.000
14
2 19022401 5 0.010
3 10301000 5 0.002
4 10309999 5 0.011
5 10121030 )))))))))))))))))) 5 0.028
M10 X 30
11 SASBR
ITEM REF QTy kg
1 24000702 =] 1 47.000
| 1
2 19022401 5 0.010
3 10301000 5 0.002
M10 12X18X1

Section 4 Page 54

ISSUE Z 13-08-2015



ARENA 2007

ITEM REF QTy kg

4 10309999 5 0.011
M10 11X30X2.5

5 10121030 5 0.028
M10 X 30

12 SACLB

ITEM REF QTy kg
AT

1 24000703 1 15.000

2 19022401 4 0.010

3 10301000 4 0.002
M10 12X18X1

4 10309999 4 0.011
M10 11X30X2.5

5 10121030 4 0.028
M10 X 30

ISSUE Z 13-08-2015

Section 4 Page 55



ARENA 2007

13 SACUM
ITEM REF QTy kg
1 24000705 1 13.000
2 19022401 4 0.010
3 10301000 4 0.002
M10 12X18X1
4 10309999 4 0.011
M10 11X30X2.5
| e 30 |
M10 X 30
14 SAEPS
ITEM REF QTY kg
1 24000606 D@ | o
2 19022401 - 2 0.010
3 10301000 2 0.002
M10 12X18X1

Section 4 Page 56

ISSUE Z 13-08-2015



ARENA 2007

ITEM | REF e -
4 | 10309999 ) ooi
M10 11X30X2.5
5 | 10121030 ) 0,025
M10 X A0
SAP10
ﬁ‘—
O '4_- N ‘.'A.. . 4.
L() .ﬂ ., .: L(O)
< Sl 8
I R '-:_ \
675 _
15 SAEPD
ITEM | REF oy -
1 | 24000607 ﬂ"’" 1 50,000

ISSUE Z 13-08-2015

Section 4 Page 57



ARENA 2007
ITEM REF QTY kg
2 19022401 6 0.010
3 10301000 6 0.002
M10 12X18X1
4 10309999 6 0.011
M10 11X30X2.5
5 10121030 )))))))))))))))))) 6 0.028
M10 X 30
M M
SAP20

SAP20

2000

1200

A

) M
o]

I

I

600
/00

. d .
= . 4
P
& .
- N

2500

| (OGN
O\
1Ot

Y

Section 4 Page 58

ISSUE Z 13-08-2015



ARENA 2007

Section 5: MINI GOAL & SEATS / MINI-BUTS & PLACES ASSISES / MINI TORE
& SITZGELEGENHEITEN / MINI PORTE DA CALCETTO & SEDUTE/
MINIMAL & BANKAR

1 SA2MG
ITEM | CODE QTy kg

1 | 24000203 1 40.00

2 | 19022401 4 0.010

3 | 10301000 4 0.002

M10 12X18X1

4 | 10309999 @ 4 0.011
M10 11X30X2.5

5 | 10121030 4 0.028
M10 X 30

6 | 10121000 @ 1

745 MI10

ISSUE Z 13-08-2015

Section 5 Page 59



ARENA 2007

STEP 1

G
N
@D
X

S

STEP 2
X
X
)

Section 5 Page 60 ISSUE Z 13-08-2015



ARENA 2007

2 SA2SS
ITEM | CODE kg
1| 24000801 78.00
g LN
f S
I 1= — |
L 1] -
2 = = |}
© ; ._|. 1 — | <
I e Bl
ol | 1740 | o
()} [~ = Tp)
i e L
o .'.4'_'-'4" 4, g
300 | _ | SA2**
B 2000 o
N
A
o
v
#
0.0 Y
— > — A A
.4 - a4y <z . O
< . . Tl . (@)
44 Al ; | !
: A T Y

ISSUE Z 13-08-2015

Section 5 Page 61



ARENA 2007

3 SA2LS
ITEM | CODE kg
1 | 25000803 25.00
SA2LS
I< \ 2000
o S . _-';: o
S <8
© R AR
Ce \ T
300 *k
> - SA2
SA2LS SAP10 & SAC10 SAP20 & SAC20 SAP30 & SAC30

SAP40 & SAC40

1100

Section 5 Page 62 ISSUE Z 13-08-2015



ARENA 2007

4 SAH22, SAH23, SAH42 & SAHA43

I

SAH22

SAH42

ISSUE Z 13-08-2015 Section 5 Page 63



AAAAAAAAA




ARENA 2007

N o N (3]
ITEM CODE TIEIE|E k
< |<|<|< 9
[72) [72] [72] (2]
o |
1 24004300 = 1 _ 28.00
o
o
I\
2 24004305 6.00
1310
3 24004310 5*_3 F : = 5‘ 8.50
—ﬁ‘ 1946 |
™ =
q— L 1
< : )
4 24004315 ™ . . 2 25.50
B 1946 B
- =
<)l F . i
q—
5 | 24004320 Nl ] o 2 17.50
1946
- =
A
o
™
©
6 24004010 2 16.50
Y
A
o
o
o
7 24004015 2 4 23.50
A
1500

ISSUE Z 13-08-2015

Section 5 Page 65



ARENA 2007

N [+¢] N (3]
ITEM | CODE T|TIZ|E k
< |<|<|< 9
o o (2] (2]
8 24004020 = T o * * * * * = 2 4 3.25
1996
8 * = S 0 0 A
9 24004025 ? 3 5 2.5
1410
[o ° ° ° ° ° °
ol
&
10 | 24004500 | R . . . . . . 1 2 13.00
1954
@ |
11 24000132 2 3 24.00
- 2850 o
- -
(¢l |
12 | 24000134 2 3| 34.00
B 4085 o
- =]
13 19023802 2 3 .050
14 19024503 2 3 0.020
15 10121040 4 6 0.037
16 10121035 36 71 0.032

Section 5 Page 66 ISSUE Z 13-08-2015



ARENA 2007

ITEM CODE kg

o | e ¢ D o || e

M10 X 30

SAH22
SAH23
SAH42
SAH43

18 10121025 20 0.024

M10 X 25

19 10301000 4 6 0.002

M10 12X18X1

20 10291000 85 144 0.011

M10 11X21X1

21 38001019 4 6 0.002

M10 12X32X6.5

22 19024501 48 | 36 | 70 | 58 0.001

N————

23 19027126

ISSUE Z 13-08-2015 Section 5 Page 67



ARENA 2007

5 D
‘Iii//\\\ fSéé%égéin)
>C20—-25

<®101

~ ~
0.0

cl AR §

. Q o 1k
—' 8 ! E " . ;-1--.'4:‘ -7—4

300 300
2000 TYP TYP| 500

SAH22

Section 5 Page 68 ISSUE Z 13-08-2015



ARENA 2007

] D
ﬁ/\ S%gm)
©JoJoJIO) >C20—25
<@®»101

0.0
: - &ﬂ&h
: o o v E ) Sy -
; - > B ¢ 9la
l— <. ‘. olO
18l o AN Al ©of~
i S o r 11! : !
A Y A T
a . " -.‘;_.', ‘4 @i
300 300
B 2000 | TYP TYP| 500
SAH23

ISSUE Z 13-08-2015 Section 5 Page 69



ARENA 2007

STEP 1

SAH22 & SAH23 X 2
SAH42 & SAH43 X 3

ISSUE Z 13-08-2015



ARENA 2007

ISSUE Z 13-08-2015 Section 5 Page 71



ARENA 2007

STEP 3

.
; 
’ X 2
X 6
[
STEP 4
A
%& 64 & 65
SZ (50mm)
>C20—25
©/ x 24h
<@ 107

ISSUE Z 13-08-2015



ARENA 2007

ISSUE Z 13-08-2015



ARENA 2007

STEP 6

Section 5 Page 74 ISSUE Z 13-08-2015



ARENA 2007

Section 6: POLY PANELS / ECRANS EN POLYETHYLENE / POLY-
WANDELMENENTE / PANNELLI IN POLIETILENE / PP SKARMAR

NS
\ 9/%/ @

1 SA2RB
-
, _ : , J
o )))))))))))))))))))))))) o | oo
M10 X 40
M10 11X21X1

ISSUE Z 13-08-2015 Section 6 Page 75



ARENA 2007

) )))))))))))))))))))))))) o | oo
M10 X 40

P )))))))))))))))))))))))) )
M10 X 40

M10 11X21X1

Section 6 Page 76

ISSUE Z 13-08-2015



ARENA 2007

4 SAYRS
ITEM QTY kg
1 | 24001104 1 22.000
2 | 10121040 15 0.037
3 | 10291000 15 0.002
5 SAYGK
ITEM QTY kg
1 | 24001105 % - 0 | 1 22.000
@ ’;:ma
0 . .
| oo )))))))))))))))))))))))) 5| oo
M10 X 40
3 | 10291000 15 0.002

M10 11X21X1

ISSUE Z 13-08-2015

Section 6 Page 77



ARENA 2007

6 SAYDS
1 24001106 % ﬁgmﬁ @ 1 22.000
50 1 50
oo )))))))))))))))))))))))) e
M10 X 40
3 10291000 15 0.002
M10 11X21X1
7 SAYCR
2 | rorzr000 )))))))))))))))))))))))) o | om
M10 X 40
3 10291000 M1 O 1 X1 15 0.002




ARENA 2007

8 SAYST

ITEM QTy kg

1 24001102 1 22.000

2 | voteton )))))))))))))))))))))))) o | oo

|
3 10291000 15 0.002

9  SAYKT

ITEM QTyY kg

'ﬂ© ':2@ _.

2 | voteton )))))))))))))))))))))))) o | oo

3 10291000 15 0.002

‘l]@ ’2@ x
SAYKT 4}@ 1]@@‘\‘

ﬂ@ ‘2@) \/ SAYKT
4@ 1]@@‘

ISSUE Z 13-08-2015 Section 6 Page 79

M10 11X21X1

fa [ A




ARENA 2007

Section 6 Page 80 ISSUE Z 13-08-2015



ARENA 2007

Section 7: GATES / PORTILLONS / EINGANGE / CANCELLI/ GRINDAR

G
N
aro
X
S

STEP 2
@ @

= —

ISSUE Z 13-08-2015 Section 7 Page 81



ARENA 2007

2000 CRS

“A!!

1 SAZ10
ITEM REF QTY kg
A
1 24000608 m H 1 58.50 To)
sy
2 19022401 4 0.010 "
3 10301000 4 0.002
M10 12X18X1 SAP10
4 10309999 4 0.011 \f
M10 11X30X2.5
5 10121030 )))))))))))))))))) 4 0.028 I
M10 X 30 5} |
I i >
o
3
181 _
8“‘*7 o“
1O 8
Y Y

Section 7 Page 82

ISSUE Z 13-08-2015



ARENA 2007

2 SAZ20
ITEM REF QTY kg — ‘
i - i
To) 365 8
SH - ?“A!! m
ol |
1 24000609 1 103.50 |
Y J —
B”
300| 8
™M
SAP20 SAP20
2 19022401 6 0.010 - 2000 CRS -
i =
3 10301000 6 0.002
M10 12X18X1 1 =
o
4 10309999 6 0.011 g‘ ] _
M10 11X30X2.5 o il EE]
o =EIR ©
Mo e I
300 300
5 10121030 6 0.028 — |et—— — |
M10 X 30 B0
I il -
o
o
o
o
1 ! )
\ f I
S 3
Lo Ty)
1 |

ISSUE Z 13-08-2015

Section 7 Page 83



ARENA 2007

3 ADJUSTMENT OF GATE CLOSING SPEED
AJUSTEMENT DE LA VITESSE DE FERMETURE DU PORTILLON
EINSTELLEN DER SCHLIESSGESCHWINDIGKEIT DES EINGANGSTORES
REGOLAZIONE DELLA VELOCITA DI CHIUSURA DEL CANCELLO
JUSTERING HASTIGHET AV GRINDENS STANGNING

—
O

/\

Section 7 Page 84 ISSUE Z 13-08-2015



ARENA 2007

4 SAZ12

78Kg

2090

A

Y

1030

I
1600

5 SAZ13

93Kg

3090

A

Y

1030

1600

650

ISSUE Z 13-08-2015

Section 7 Page 85



ARENA 2007

6 SAZ22

140Kg 2090

A
Y

2033

2833

Section 7 Page 86 ISSUE Z 13-08-2015



ARENA 2007

7 SAZ23
B 3090 -
162Kg
] u u ] i i
=l
™
(4p)
S
N o
o
®
N
0.0 l I
o
o
>
Y

ISSUE Z 13-08-2015 Section 7 Page 87



ARENA 2007

8 SAZ32

2090

Y

A

240Kg

3080

2630

3830

Section 7 Page 88 ISSUE Z 13-08-2015



ARENA 2007

9 SAZ33
276Kg 3090 -
'-T[ Il 1 1
i
o
00}
o
o (op]
(‘0 . N M
©
N (i 8
o0
o
1

FaS
(&)}
o
X
N
o

ISSUE Z 13-08-2015 Section 7 Page 89



ARENA 2007

10 SAZ42

205Kg 2090

4080

4830

2630

Section 7 Page 90 ISSUE Z 13-08-2015



ARENA 2007

11 SAZ43

320Kg

3090

A

|

2630

4080

4830

ISSUE Z 13-08-2015

Section 7 Page 91



ARENA 2007

Section 7 Page 92 ISSUE Z 13-08-2015



ARENA 2007

Section 8: NET EXTENSIONS / RALLONGES PARE-BALLONS / NETZ-
VERLANGERUNGEN / ESTENSIONI RETI /

FORLANGNINGSSTOLPE
1
1.1 SABSL10
ITEM REF QTY kg
y 13
1 24101012 1 5.00
1975
- i
1.2 SABSR10
ITEM REF QTY kg
¥ 2
1 24101018 1 5.00
B 1975 -
I =

1.3 SABSL20

ITEM | REF QTY | kg
: = { i
1 | 24102012 1 7.00
2970
= =
1.4 SABSR20
ITEM | REF QTY | kg
L 8 u ”I
1 |24102018 1 7.00
B 2970 B
- =
1.5 SABSL30
ITEM | REF QTY | kg
U 11
1 | 24103012 1 9.50
3965
— ™

ISSUE Z 13-08-2015 Section 8 Page 93



ARENA 2007

1.6 SABSR30
ITEM REF QTY kg
1 T
1 24103018 1 9.50
- 3965 i
I o

uy

SABSR* X SABSL xx
_%T -Tﬁ_
v L
[
SAP20
SAP20D x IE‘
SAP30 |
SAP30D |] | P
-
SAP40 |
sap4op X |

@ 20—-235Nm

Section 8 Page 94

ISSUE Z 13-08-2015



ARENA 2007

2

21 SABSL10S

ITEM | REF QTY | kg
1| 24111012 & . 1| 500
B 1975 -

[ -—
2 | 19025501 2 |o0015
3 |10121030 2 |o0.028
MT10 X 30
4 110301000 2 |0.002
M10 12X18X1
5 | 10291000 2 |0.002
M10 11X21X1

ISSUE Z 13-08-2015

Section 8 Page 95



ARENA 2007

22 SABSR10S

ITEM REF QTY kg

1 24111018 1 5.00

2 19025501 2 0.015
3 10121030 2 0.028
4 10301000 2 0.002
5 10291000 2 0.002

M10 11X21X1

Section 8 Page 96 ISSUE Z 13-08-2015



ARENA 2007

2.3 SABSL20S

ITEM REF QTY kg

1 24112012 1 7.00

A
!

2 19025501 2 0.015
3 10121030 2 0.028
4 10301000 2 0.002
5 10291000 2 0.002

MT10 11X21X1

ISSUE Z 13-08-2015 Section 8 Page 97



ARENA 2007

2.4 SABSR20S

ITEM REF QTY kg
1 24112018 d 9 1 7.00
2970
- —

2 19025501 2 0.015
3 10121030 2 0.028
M1O X 30
4 10301000 2 0.002
M10 12%X18X1
5 10291000 2 0.002
M10 11X21X1

Section 8 Page 98

ISSUE Z 13-08-2015



ARENA 2007

2.5 SABSL30S

ITEM REF QTY kg

1 24113012 1 9.50

A
i

2 19025501 2 0.015
3 10121030 2 0.028
4 10301000 2 0.002
5 10291000 2 0.002

M10 11X21X1

ISSUE Z 13-08-2015 Section 8 Page 99



ARENA 2007

2.6 SABSR30S

ITEM REF QTY kg

1 24113018 1 9.50

A
i

2 19025501 2 0.015
3 10121030 2 0.028
4 10301000 2 0.002
5 10291000 2 0.002

MT10 11X21X1

Section 8 Page 100 ISSUE Z 13-08-2015



ARENA 2007

JH m,

SABSR**S SABSL*XS

e i

/4

SAP20
SAP20D X

SAP30
SAP30D

SAP40
SAP40D X

20-235Nm

ISSUE Z 13-08-2015 Section 8 Page 101




ARENA 2007

3
3.1 SABTA10
ITEM REF QTY kg
i
o) 1045
1 24300550 g 1 5.00
™
Y
3.2 SABTA15
ITEM REF QTY kg
1545
ol
1 24302040 < 1 4.50
Tg]
Y
3.3 SABTA20
ITEM REF QTY kg
A
0 2045
1 24300555 o 1 9.50
(qV|
Y
3.4 SABTA21
ITEM REF QTY kg
=) 2045
1 24302045 (@] 1 7.00
h

Section 8 Page 102 ISSUE Z 13-08-2015



ARENA 2007

3.5 SABTA25
ITEM REF QTY kg
2545
1 24302050 5,? 1 6.75
Lo
3.6 SABTS10
ITEM REF QTY kg

960
1 [ 24200960 - = 1 | 225

3.7 SABTS20
ITEM REF QTY kg
L 1960 |
1 24201960 |‘ 7| 1 4.50
3.8 SABTS30
ITEM REF QTY kg
L 2960 |
1 24202960 | B T 1 7.00
e —— ——————————————————
4
41 SABSF10
ITEM REF QTY kg
1 16011006 1 0.29

ISSUE Z 13-08-2015 Section 8 Page 103



ARENA 2007

4.2 SABSF15
ITEM REF QTY kg
1 16011506 1 0.37
4.3 SABSF25
ITEM REF QTY kg
1 16012506 1 0.49

SABSF15

() | SABSFi0

SABSF25

X

Section 8 Page 104

ISSUE Z 13-08-2015



ARENA 2007

Section 9: TENNIS NET / FILET DE TENNIS / TENNIS-NETZ / RETE DA TENNIS

/ TENNISNAT
1 SANET
ITEM CODE QTY kg
B 14250 -
2750 ™ -
1 HUCKO0034 1 3.70
o
(@)
o
A D @)))))))))))))))))))))))))) \ .
M10

ISSUE Z 13-08-2015

Section 9 Page 105



ARENA 2007

o SAC30

Section 9 Page 106 ISSUE Z 13-08-2015



ARENA 2007

- SAP30

M 'WTTW
Y
Il 0
A SAP30 SAC30 A
i A
o
S
of 1
S i ’
Y i v
350 CiS‘ L 15000 & 16000 CRS _

ISSUE Z 13-08-2015 Section 9 Page 107



ARENA 2007

ﬁ SAC20

Y
ﬁ SAP20
A
§ e T
SAP20 SACQO\A _
[ A .
© 3
o 2
Y .
! 1 —r
350 CE§‘ L 15000 & 16000 CRS N
= -—

Section 9 Page 108 ISSUE Z 13-08-2015



ARENA 2007

Appendix A: GOALS DECK MOUNTED / BUTS SUR PLATINES / TORE OBERERDIG
MONTIERT / PORTE DA CALCETTO FILO SUOLO / MAL OVAN MARK
MONTERING

1 SAG2BD, SAGSMD, SAG2RD, SAGMRD, SAG2BBD, SAG2RBD, SAGMRBD &
SAGSMBD

QTY
[a) [a] [a) [=] o]
ITEM REF. IS 8 |E |2 |2 8|2«
~ n ~ = a x = 7
s |2l s | S| 2| x| x| <
(/2] (2] (/2] %) %) N 7]
D
SET SET SET | SET
24000101DM OF 2 OF 2 OF 2 | OF 2 70.00
D
14
——— D
SET SET SET | SET
24000102DM et et ool oty | 8200
D
L 2910 .
12 | 25000205 | p— —) 1 27.00
=
o 2305 N
= -
R g\( | o

ISSUE Z 13-08-2015 Appendix A Page 109



ARENA 2007

QTy
[a) [a] [a) [a] (a]
ITEM REF. 8BS |&|E|@ @ |2 2|k
N (7] N = ~ ~N = 7
2121 8|92 |¢c|o|o|ac
(/2] () /7] ) n n & P
24000301 4 4 4 4 | 50.00
1.4
24000305 4 4 4 4 68.00
24000111DM 48.00
15
24000115DM 61.00
1.6 25000405 i i 2 26.00
DO NOT
HANG OR
cLIMB ON
1.7 24000905 THE RING 7.500
oR FRAMEWORK
1.8 25000907 8.000

Appendix A Page 110

ISSUE Z 13-08-2015



ARENA 2007

QTY

ITEM REF. ggeggégékg

)))))))))))))))))))))))) 4
M10 X 40

3 A .
M10 X 35
MT10 X 30
M1OX18X1

1.14 10271000 10 0.020
<> M10

<
@)

:

745 MI10

ISSUE Z 13-08-2015

Appendix A Page 111



ARENA 2007

2 SAGF2D

ITEM CODE SAGF2D kg
C = . .
4.1 24000132DM 2 23.00
2300
[ —
. 2132 .
4.2 24000105DM |(J 1 20.00
- 2910 _
4.3 25000205 0 — 1 27.00
"L u

Appendix A Page 112 ISSUE Z 13-08-2015



ARENA 2007

ITEM CODE SAGF2D kg

4.4 24000615 m 4 35.50

4.5 19022401 16 0.010
 A—

/'

4.6 10121030 @m 20 0.028

M1 30

4.7 10301000

0O X
12X18

M10 X1

4.8 10309999 16 0.011

M10 11X30X2.5

4.9 19024501 ' ) 24 0.001

5.0 10121000 @ 1

1745 MIO

ISSUE Z 13-08-2015 Appendix A Page 113



ARENA 2007

3

SAGF3D & SAGF3BD

M

ITEM CODE SAGF3D | SAGF3BD | kg
o
51 | 24000134DM 29.50
3132
| -—
2135
24000105DM N 1 20.00
5.2
24000112DM 1

Appendix A Page 114

ISSUE Z 13-08-2015




ARENA 2007

ITEM CODE SAGF3D | SAGF3BD kg
5.3 24000615 4 35.50
5.4 24000610 1 68.00
5.5 24000905 1 7.50
5.6 25000907 1 8.00
5.7 19022401 18 0.010
5.8 19023803 1 0.050
5.9 19024503 2 0.020
)))))))))))))))))))))))) e o

ISSUE Z 13-08-2015

Appendix A Page 115



ARENA 2007

ITEM CODE SAGF3D | SAGF3BD kg
))))))))))))))))))))) o | oo

M10 X 35
5.12 10121030 20 26 0.028
5.13 10301000 20 40 0.002
5.14 10309999 18 0.011
5.15 10291000 2 4 0.002
5.16 38001019 2 0.002
5.17 10271000 20 0.020
5.18 10411000 20 0.020

MY
5.19 19024501 ) 26 24 0.001
5.20 10121000 @ 1
1745 MI10

Appendix A Page 116 ISSUE Z 13-08-2015



ARENA 2007

Appendix B: POSTS DECK MOUNTED / POTEAUX SUR PLATINES / PFOSTEN
OBERERDIG MONTIERT / PALI FILO SUOLO / STOLPAR OVAN MARK

MONTERING

1 SAP10D
ITEM REF. QTyY kg
1132
1 24000103DM 1 15.00
D
2 SAC10D
ITEM REF. QTyY kg
1132
1 24000104DM 1 15.00
D
3 SAO10D
ITEM REF. QTY kg
1132
A
1 24000130DM 1135° 1 15.00
°/
4 SAP20D
ITEM REF. QTY kg
~ 2132
1 24000105DM b 1 20.00

ISSUE Z 13-08-2015

Appendix B Page 117



ARENA 2007

5 SAC20D

QTY

kg

ITEM REF.

2132

Y

I

1 24000106DM

20.00

6 SAP30D

QTyY kg

ITEM REF.

3135

Y

A

1 24000107DM

[

1 29.50

7 SAC30D

QTY kg

ITEM REF.

3135

Y

A

1 | 24000108DM

)

1 29.50

8 SAP40D

QTY

kg

ITEM REF.

A

1 | 24000109DM

+

N

4

38.50

ISSUE Z 13-08-2015

Appendix B Page 118



ARENA 2007

9 SAC40D
ITEM REF. QTy kg
- 4135 _
1 24000110DM 1 38.50
U - 3 - 3

ISSUE Z 13-08-2015 Appendix B Page 119



ARENA 2007

10 SAP41D
ITEM REF. QTY kg

1 24000119DM 1 54.00

2 24000905 1 7.500

3 25000907 1 8.000

4 10121040 4 0.037

5 10121035 6 0.032

6 10301000 20 0.002

7 10271000 10 0.020

8 10411000 10 0.020
MY

9 19024501 : 24 0.001
Y

Appendix B Page 120 ISSUE Z 13-08-2015



ARENA 2007

11 SAP42D
ITEM REF. QTY kg
| —ﬁ:n
1 24000129DM 1 62.00
I
Do NOT
HANG OR
cLIMB ON
2 24000905 FHE RING 2 7.500
08 FRAMEYORK
3 25000907 2 8.000
4 10121040 8 0.037
5 10121035 12 0.032
6 10301000 40 0.002
7 10271000 20 0.020
8 10411000 20 0.020
N
9 19024501 24 0.001
)

ISSUE Z 13-08-2015

Appendix B Page 121



ARENA 2007

Appendix B Page 122 ISSUE Z 13-08-2015



ARENA 2007

Appendix C: SEAT DECK MOUNTED & ACCESS / PLACES ASSISES & ACCES SUR
PLATINES / SITZGELEGENHEITEN & ZUGANGE OBERERDIG MONTIERT /
ESDUTA FILO SUOLO & ACCESSO / BANKER FOR OVAN MARK
FORANKING & INGANG

1 SAH22D, SAH23D, SAH42D & SAH43D

[a] (a] (a] [a]
N [+¢] N (3]
ITEM CODE FIE|I|I| ko
g ([ < ([ < | <
o o o (2]
LO n
o]
O| Yot .
1 24004300DM - ] 3 | 28.00
2220 ~—
o
]
I\
2 24004305 2 6.00
1310
3 24004310 2! E g 4 8.50
—ﬁ‘ 1946 |
[~ =

ISSUE Z 13-08-2015

Appendix C Page 123



ARENA 2007

[a =N alNa
SIEEIE
ITEM CODE T ||| x| ko
<|<|<| <
n (7] n n
S : :
v L ]
4 24004315 ™ : - 2 | 2550
| 1946 |
[~ =
<IF . . . . -
#
5 24004320 Nl ' ] ] ] ] o 2 | 1750
1946
[~ =
A
o)
~
©
6 24004010 2 16.50
Y
A
o
®
o
7 24004015 4 | 2350
A
1500
8 24004020 ST o * * * * * = 4 3.25
1996
g ‘ [ o o o o]
9 24004025 T 5 2.25
1410
[o ° ° ° ° ° °
ol
3
10 24004500 | R . . . . . . 2 13.00
1934

Appendix C Page 124

ISSUE Z 13-08-2015



ARENA 2007

[a ==l
N [+¢] N (3]
ITEM CODE TIE|I|I| ko
< |<|<|<
(/)] »n »n (/]
(K —
11 24000132DM 2 3 23.00
2300
|= —
[
12 24000134DM 2 3 | 29.50
3132
[ —
13 19023802 2 3 .050
14 19024503 2 3 0.020
15 10121040 4 6 | 0037
16 10121035 36 71 | 0.032
17 10121030 29 53 | 0.028
18 10121025 20 0.024
19 10301000 4 6 | 0.002
20 10291000 85 144 | 0.011

ISSUE Z 13-08-2015 Appendix C Page 125




ARENA 2007

91288
ITEM CODE TIE|I|I| ko
| €| < | <
n (7] n n
21 38001019 4 6 | 0.002
M10 12X32X6.5
AN
22 19024501 M) 48|36 |70 | 58| 0.001
23 19027126 > 4
2 SAEPSD
(N
ITEM REF QTY | kg
f SAP10D
1 24000606DM 1 | 1250
o
2 19022401 \ CTTTD 2 | 0010 99
A T
3 10301000 2 | 0.002
M10 12X18X1
4 10309999 @ 2 | 0.011

MT10 11X30X2.5

Appendix C Page 126

ISSUE Z 13-08-2015




AAAAAAAAA

¢ T

M10 X 30




ARENA 2007

3 SAEPDD
[ [
SAP20D SAP20D
ITEM REF ary kg
1| 24000607DM 59.00
2 19022401 0.010
3 10301000 0.002
4 10309999 0.011
5 10121030 0.028

Appendix C Page 128 ISSUE Z 13-08-2015



	Cover - HAGS - Issue Z
	ARENA TOC - Issue Z
	Section1 - Issue Z
	Section2 - Issue Z
	Section3 - Issue Z
	Section4 - Issue Z
	Section5 - Issue Z
	Section6 - Issue Z
	Section7 - Issue Z
	Section8 - Issue Z
	Section9 - Issue Z
	AppendixA - Issue Z
	AppendixB - Issue Z
	AppendixC - Issue Z

